
Paramétrisation de la courbe C2 ≡ ~p(R,~n, s)

Sur le tronçon L1 : s ∈ [0 ;L1]

~p = ~a1 + ~us avec ~u =
~a2 − ~a1
‖ ~a2 − ~a1‖

Sur le tronçon L2 : s ∈ ]L1 ;L1 + L2]

~p = R cos(θ)~u+R sin(θ)~n× ~u+ ~c avec

 ~c = ~a2 +R~n× ~u

θ =
s

R
− π

2
− L1
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Sur le tronçon L3 : s ∈ ]L1 + L2 ;L1 + L2 + L3]

~p = ~a3 +
∂~p

∂s

∣∣∣∣
L1+L2

x avec


∂~p

∂s
= −sin(θ)~u+ cos(θ)~n× ~u

x = s− L1 − L2

Distance d’un point ~q ∈ C1 à la courbe C2 :

d(~q, C1) = min
s
‖~p(R,~n, s)− ~q‖ ⇔ ∂d2(~q, C1)

∂s
= 0

Sur L2 :

∂d2(~q, C1)

∂s
= −2R‖~u‖2 cos(θ) sin(θ) + 2R‖~n× ~u‖2 sin(θ) cos(θ)− 2R~u · (~n× ~u) sin2(θ)

+ 2R~u · (~n× ~u) cos2(θ)− 2~u · (~c− ~q) sin(θ) + 2(~n× ~u) · (~c− ~q) cos(θ)

= R

[
− ‖~u‖2 + ‖~n× ~u‖2

]
sin(2θ) + 2R~u · (~n× ~u) cos(2θ)

− 2~u · (~c− ~q) sin(θ) + 2(~n× ~u) · (~c− ~q) cos(θ)
= 0
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